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Name: __________________________________
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What is the inverse of the function [image: image1.png]4x+5




?
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If [image: image12.png]1
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, then the inverse function is
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Given [image: image17.png]1
fi= 35+



, which equation represents the inverse, [image: image18.png]a(x)



?
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What is the inverse of [image: image23.png]
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The inverse of [image: image28.png]o) = -6+ 4
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Given [image: image33.png]2
A==z +4



, which statement is true of the inverse function [image: image34.png]74
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?

	1)
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 is a line with slope [image: image36.png]


.

	2)
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 is a line with slope [image: image38.png]
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 passes through the point [image: image40.png]


.
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.



8
Given [image: image43.png]ol
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, which equation represents [image: image44.png]
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Given the inverse function [image: image49.png]ol
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